mErEm Five Rivers KO7-62-1HN Nangle

MD

e energy 1":100
Company: Noble Energy Inc
Well Name: Five Rivers K07-62-1HN
API: 05-123-38086
Rig Id: Precision 828
State: Colorado
County/Parish: Weld
Country: USA
Survey Company: Ensign Directional
Job number:
Company Man 1 Gary Stapleton
Directional Driller 1 Tyler Batchelder
Directional Driller 2 Matt Mason
MWD 1 Nick Jones
MWD 2 Andrew Keohan
Log measurements: Depth Date
Depth measured from: KB Start: 634 ft 12/26/13
Maximum temperature: End: 16152 ft 1/11/14
Casing Depth Size Mud Type: Elevations
Surface: 634 9.625 Density: KB: 4718
Intermediate: 7448 7 Viscosity: GL: 4702
Rm: Rmf: Rmc: DF: 4718
Offsets Depths Dates
Run| Bit Size | Gamma Survey Start End Start End
1 8.75 58.15 53.15 634 7448 12/26/13 12/30/2013
2 6.125 66.55 61.55 7448 01/01/2014
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conjunction with services performed but will not be held liable or responsible for the accuracy of such information or interpretation.

Ensign Directional uses its best efforts to provide its customers with accurate information and interpretations in
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1VS(1636.74) NS(-524.85) EW(-1609.12) TEMP(185.0)
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-

[#104 MD(8616.00) Inc(90.9) Azm(274.6) TVD(7021.95)

1VS(1726.03) NS(-518.88) EW(-1698.91) TEMP(186.8)
|

i#lOS MD(8705.00) Inc(91.5) Azm(270.8) TVD(7020.08)

]VS(1814.51) NS(-514.73) EW(-1787.77) TEMP(188.6)

p—

- {106 MD(8795.00) Inc(91.5) Azm(269.9) TVD(7017.73)
—3 1VS(1904.30) NS(-514.22) EW(-1877.74) TEMP(190.4)
= i#107 MD(8885.00) Inc(91.1) Azm(268.0) TVD(7015.69)
]VS(1994.20) NS(-515.87) EW(-1967.70) TEMP(192.4)
gi i#lOS MD(8975.00) Inc(89.4) Azm(267.9) TVD(7015.29)
f; ]VS(2084.18) NS(-519.10) EW(-2057.64) TEMP(195.8)
=Y
ped
) §
| €
S i#109 MD(9065.00) Inc(89.7) Azm(267.5) TVD(7016.00)
) VS(2174.16) NS(-522.70) EW(-2147.56) TEMP(197.6)
_—)
L i#no MD(9155.00) Inc(89.1) Azm(268.9) TVD(7016.94)
’) |VS(2264.12) NS(-525.48) EW(-2237.51) TEMP(199.4)
p ™
~
4
¢ [#111 MD(9244.00) Inc(89.4) Azm(267.5) TVD(7018.11)
B | |VS(2353.08) NS(-528.24) EW(-2326.46) TEMP(201.2)
Hﬁ\
A
&, [#112 MD(9334.00) Inc(89.3) Azm(268.1) TVD(7019.13)
’y |VS(2443.05) NS(-531.68) EW(-2416.39) TEMP(203.0)
<.
P |
|
[#113 MD(9424.00) Inc(89.9) Azm(268.5) TVD(7019.76)
5 |Vs(2533.01) NS(-534.35) EW(-2506.34) TEMP(203.0)
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[#114 MD(9514.00) Inc(90.1) Azm(268.7) TVD(7019.76)
|VS(2622.97) NS(-536.58) EW(-2596.32) TEMP(237.2)

1#115 MD(9604.0

Jvs2712.90) NS

-538.49) EW|

0) INC(90.4) Azm(268.9) TVD(7019.36)
-2686.29) TEMP(231.8)

[#116 MD(9694.0
1vs(2802.86) NS

-540.99) EW|

0) INC(90.3) Azm(267.9) TVD(7018.81)
-2776.26) TEMP(226.4)

{#117 MD(9784.0

|vs(2892.83) NS

-543.82) EW|

0) INC(90.3) Azm(268.5) TVD(7018.34)
-2866.21) TEMP(228.2)

{#118 MD(9874.0

|vs(2082.77) NS

-545.78) EW|

0) INC(89.7) Azm(269.0) TVD(7018.34)
-2956.19) TEMP(226.4)

1#119 MD(9963.0

|vs(3071.63) NS

-546.06) EW|

0) INC(90.5) Azm(270.6) TVD(7018.19)
-3045.18) TEMP(228.2)

1#120 MD(10053.

|vs(3161.45) NS

00) Inc(91.5)
-545.70) EW|

AZm(269.9) TVD(7016.62)

-3135.17) TEMP(231.8)

Y ™

[#121 MD(10143.

|vs(3251.35) NS

00) Inc(89.9)
-546.90) EW|

AZm(268.6) TVD(7015.52)

-3225.15) TEMP(228.2)

|#122 MD(10219.

|vS(3327.27) NS

00) Inc(89.2)
-548.02) EW|

AZm(269.7) TVD(7016.11)

-3301.14) TEMP(228.2)

b

[#123 MD(10312.

|vs(3420.14) NS

00) Inc(89.0)
-548.63) EW|

Azm(269.5) TVD(7017.57)

-3394.12) TEMP(230.0)

1#124 MD(10405.

|vs(a512.98) NS

00) Inc(89.1)
-548.79) EW|

AZm(270.3) TVD(7019.12)
-3487.11) TEMP(226.4)
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i#125 MD(10496.

1VS(3603.67) NS

00) InC(91.2)
546.72) EW|

AZm(272.3) TVD(7018.88)
-3578.08) TEMP(226.4)
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|#126 MD(10589.

3696.23) NS

00) InC(91.2)
543.26) EW|

AZm(271.9) TVD(7016.93)
-3670.99) TEMP(224.6)

\QANNMN d

lvs

{#127 MD(10684.

3790.89) NS

00) Inc(90.9)
-540.93) EW|

AZm(270.9) TVD(7015.19)
-3765.94) TEMP(226.4)

Jvs

i#128 MD(10776.

3882.81) NS

00) Inc(89.3)
-542.83) EW|

AZm(266.8) TVD(7015.03)
-3857.90) TEMP(224.6)

lvs

[#129 MD(10868.

3974.79) NS

00) Inc(90.0)
546.57) EW|

AZm(268.6) TVD(7015.59)
-3949.82) TEMP(163.4)

lvs

[#130 MD(10960.

4066.63) NS|

00) Inc(89.8)
-546.63) EW|

AZm(271.4) TVD(7015.75)
-4041.81) TEMP(226.4)

lvs

[#131 MD(11051.

4157.32) NS|

00) Inc(90.2)
544.42) EW|

AZm(271.4) TVD(7015.75)
-4132.78) TEMP(228.2)

lvs

[#132 MD(11143.

4248.97) NS|

00) Incf

(90.6)

-541.66) EW|

AZm(272.0) TVD(7015.11)

-4224.74) TEMP(226.4)

Jvs

i#133 MD(11236.

4341.51) NS|

00) Incf

(91.8)

-538.00) EW|

AZm(272.5) TVD(7013.16)

-4317.65) TEMP(230.0)

lvs

[#134 MD(11330.

4435.11) NS|

00) Incf

(90.8)

-535.14) EW|

AZm(271.0) TVD(7011.03)

-4411.57) TEMP(233.6)

lvs

{#135 MD(11424.

4528.77) NS|

00) Incf

(90.9)

-532.70) EW|

AZm(272.0) TVD(7009.63)

-4505.53) TEMP(231.8)
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lvs

[#136 MD(11518.

4622.31) NS|

00) Incf

(O1.0)

-528.92) EW|

AZm(272.6) TVD(7007.99)

-4599.44) TEMP(230.0)
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00) Incf
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AZm(271.1) TVD(7006.75)

4716.90) NS(-525.79) EW(-4694.38) TEMP(230.0)
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11700 i#138 MD(11706.00) Inc(90.1) Azm(270.4) TVD(7006.34)
1VS(4809.66) NS(-524.51) EW(-4787.37) TEMP(296.6)
11800 } [#139 MD(11801.00) Inc(89.9) Azm(270.3) TVD(7006.34)
| | VS(4904.47) NS(-523.89) EW(-4882.36) TEMP(231.8)
i#14o MD(11895.00) Inc(90.2) Azm(269.3) TVD(7006.26)
11900 1VS(4998.33) NS(-524.18) EW(-4976.36) TEMP(233.6)
[#141 MD(11989.00) Inc(90.5) Azm(268.4) TVD(7005.69)
1VS(5092.26) NS(-526.04) EW(-5070.34) TEMP(237.2)
12000
F
[#142 MD(12084.00) Inc(90.5) Azm(267.1) TVD(7004.86)
!vs 5187.23) NS(-529.76) EW(-5165.26) TEMP(239.0)
12100 I
&
b
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[#143 MD(12178.00) Inc(90.2) Azm(267.2) TVD(7004.29)
1VS(5281.23) NS(-534.46) EW(-5259.14) TEMP(233.6)
12200
[#144 MD(12272.00) Inc(91.0) Azm(269.8) TVD(7003.30)
|VS(5375.17) NS(-536.93) EW(-5353.10) TEMP(239.0)
v _.
12300 —
#145 MD(12367.00) Inc(91.2) Azm(269.1) TVD(7001.48)
1VS(5470.04) NS(-537.86) EW(-5448.07) TEMP(239.0)
[
12400
[#146 MD(12461.00) Inc(90.7) Azm(270.1) TVD(6999.92)
| VS(5563.91) NS(-538.53) EW(-5542.06) TEMP(237.2)
12500 [
1 i#147 MD(12556.00) Inc(90.9) Azm(270.0) TVD(6998.59)
{VS(5658.73) NS(-538.44) EW(-5637.05) TEMP(238.0)
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[#149 MD(12771.00) Inc(91.4)

AZm(270.3) TVD(6993.94)

| VS(5873.29) NS(-537.82) EW(-5852.00) TEMP(240.0)
=
[#150 MD(12861.00) Inc(91.6) Azm(270.2) TVD(6991.58)
| VS(5963.08) NS(-537.45) EW(-5941.96) TEMP(242.6)
T |
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lvs

6142.78) NS(-538.58) EW

[#151 MD(12951.00) Inc(91.3) Azm(269.6) TVD(6989.30)
L |VS(6052.91) NS(-537.64) EW(-6031.93) TEMP(246.2)
§
2
S
[#152 MD(13041.00) Inc(92.0) Azm(269.2) TVD(6986.71)

-6121.89) TEMP(242.6)

- [#153 MD(13131.00) Inc(90.6) Azm(269.0) TVD(6984.67)
by |VS(6232.67) NS(-539.97) EW(-6211.86) TEMP(244.4)
P
-
[#154 MD(13220.00) Inc(89.9) Azm(268.6) TVD(6984.28)
iy |VS(6321.61) NS(-541.80) EW(-6300.83) TEMP(239.0)
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lvs

[#155 MD(13310.00) Inc(89.0)

6411.48) NS(-542.50) EW|

AZm(270.5) TVD(6985.15)

-6390.82) TEMP(242.6)
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lvs

[#156 MD(13400.00) Inc(90.2)

6501.25) NS(-541.29) EW.

AZm(271.1) TVD(6985.77)

-6480.81) TEMP(242.6)

lvs

[#157 MD(13490.00) Inc(90.2)

6591.02) NS(-540.02) EW

AZm(270.5) TVD(6985.46)

-6570.80) TEMP(244.4)

lvs

[#158 MD(13580.00) Inc(90.5)

6680.84) NS(-539.64) EW

AZm(269.9) TVD(6984.91)

-6660.80) TEMP(244.4)

lvs

[#159 MD(13670.00) Inc(90.3)

6770.52) NS(-537.39) EW|

AZm(272.9) TVD(6984.28)

-6750.76) TEMP(246.2)
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[#160 MD(13760.00) Inc(91.0) Azm(274.6) TVD(6983.26)
|VS(6859.83) NS(-531.50) EW(-6840.56) TEMP(246.2)
[ S——
[#161 MD(13850.00) Inc(90.0) Azm(275.0) TVD(6982.48)
r' <4 |VS(6948.93) NS(-523.99) EW(-6930.24) TEMP(233.6)
S
!
——— [#162 MD(13940.00) Inc(90.5) Azm(274.2) TVD(6982.08)
.'1 |VS(7038.07) NS(-516.78) EW(-7019.95) TEMP(242.6)
J
(
—— 2
[#163 MD(14029.00) Inc(90.1) Azm(273.7) TVD(6981.62)
s |VS(7126.36) NS(-510.71) EW(-7108.74) TEMP(240.8)
S
[ — [#164 MD(14119.00) Inc(90.5) Azm(271.3) TVD(6981.15)
X3 |VS(7215.90) NS(-506.84) EW(-7198.65) TEMP(240.8)
[
F
[#165 MD(14209.00) Inc(90.2) Azm(269.8) TVD(6980.60)
|VS(7305.69) NS(-506.02) EW(-7288.64) TEMP(267.8)
S
rd [#166 MD(14299.00) Inc(91.2) Azm(271.9) TVD(6979.50)
1VS(7395.44) NS(-504.67) EW(-7378.61) TEMP(176.0)
—
%
i
L —— [#167 MD(14389.00) Inc(88.9) Azm(270.1) TVD(6979.42)
|VS(7485.17) NS(-503.04) EW(-7468.59) TEMP(185.0)
[
r
|
%
— -
|
[#168 MD(14479.00) Inc(88.2) Azm(268.6) TVD(6981.69)
|VS(7575.04) NS(-504.04) EW(-7558.55) TEMP(240.8)
[ &
F_—
}
[#169 MD(14568.00) Inc(89.3) Azm(268.2) TVD(6983.64)
1VS(7663.98) NS(-506.56) EW(-7647.49) TEMP(239.0)
——
S
P [#170 MD(14658.00) Inc(90.8) Azm(267.7) TVD(6983.56)
S VS(7753.96) NS(-509.78) EW(-7737.43) TEMP(233.6)
pd
;?
[#171 MD(14748.00) Inc(90.7) Azm(267.3) TVD(6982.38)
1VS(7843.94) NS(-513.69) EW(-7827.34) TEMP(244.4)
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[#172 MD(14838.00) Inc(30.9) Azm(267.4) TVD(6981.12)
1VS(7933.93) NS(-517.89) EW(-7917.23) TEMP(244.4)
[#173 MD(14928.00) Inc(89.3) Azm(267.1) TVD(6980.97)
1VS(8023.92) NS(-522.20) EW/(-8007.13) TEMP(246.2)
[#174 MD(15018.00) InC(89.5) Azm(266 ) TVD(6981.91)
1VS(8113.91) NS(-526.98) EW/(-8096.99) TEMP(240.8)

y =

4 #175 MD(15107.00) Inc(90.3) Azm(268.9) TVD(6982.06)
1VS(8202.89) NS(-530.34) EW(-8185.92) TEMP(240.8)
[7176 MD(15197.00) Inc(89.6) Azm(267.7) TVD(6962.14)
1V/5(8292.85) NS(-533.03) EW(-8275.88) TEMP(176.0)

1

e

LY #177 MD(15287.00) Inc(90.0) AZm(268.5) TVD(6982.46)
1Vs(8382.82) NS(-536.02) EW/(-8365.83) TEMP(240.8)

§ o
#178 MD(15377.00) Inc(90.8) Azm(270.4) TVD(6981.63)
1VS(8472.71) NS(-536.89) EW(-8455.82) TEMP(242.6)

f

#179 MD(15467.00) Inc(90.0) Azm(265.9) TVD(6981.20)
1VS(8562.66) NS(-539.82) EW(-8545.75) TEMP(240.8)

p)

C #180 MD(15557.00) Inc(90.3) Azm(269.7) TVD(6980.96)
1VS(8652.62) NS(-543.27) EW(-8635.66) TEMP(242.6)
#181 MD(15647.00) Inc(90.1) Azm(268.9) TVD(6980.65)
1VS(8742.53) NS(-544.33) EW(-8725.65) TEMP(244.4)

2
{7182 MD(15736.00) Inc(91.2) Azm(270.6) TVD(6979.64)
JVS(8831.30) NS(-544.69) EW/(-8814.64) TEMP(246.2)

r
{7183 MD(15626.00) Inc(89.7) Azm(271.4) TVD(6978.63)
1VS(8921.12) NS(-543.08) EW/(-8904.62) TEMP(248.0)
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{182 MD(15916.00) Inc(90-2) Azm(270.8) TVD(6979.01)

1VS(9010.85) NS(-541.29) EW(-8994.60) TEMP(248.0)

16000 L—__\ i#185 MD(16006.00) Inc(90.2) Azm(269.2) TVD(6978.70)

g 9 1VS(9100.69) NS(-541.22) EW(-9084.60) TEMP(248.0)

= [#186 MD(16090.00) Inc(90.6) Azm(268.0) TVD(6978.11)
16100 ?’ |Vs(9184.64) NS(-543.23) EW(-9168.57) TEMP(-61.6)
Gamma ROP VS
0.0 API 150.0 0.0 0 500.0 | 0.0 ft 5000.0
150.0 300.0 500.0 1000.0 | 5000.0 10000.0
TVD
6000.0 ft 7200.0

| 7200.0 14400.0




